EREHAXHFHRAR (Z80) F:E)—V #HEE-BER

2025F7H29HBE

OFEY — 7 OB
Bb=38m Blr=08 5|lgnlf=18 AREE=38 FEHK=-35
BEAE CBEIERDIETRE (DNEAE-QFLARE—Q%kSa (D) ~@EA (%))
[(FEDBEDEHIELE5 -0 WF—LTEDHZEIZ0 - 0]

QFRBEF—F X bEl
QUIEEHFIZL— FF—L QOAFEEDOREL Y ETE)

& $FAE D rIsERsHA

RBEF—7x>F

ML > R

OF —L0E—HER

TERM®B4AL3H

ERREFTRE

BR
i

BTXXAXXH

MEHDO—UR P T — L EZMDORBELEMUD 2 F—L7%ZEHL

(TANLEH—FAR) 8F—LICLBb—F X FiEET 3

NO| A7 Ry & NY [Bx=<| YF MT [2=F|77 32
NYZ7L—7X 7- 6 - 0l6- 1

B2l R~ RiEEl6 - 7 3- 13- 2|u- 1

53 YFYXAGEIN 1- 3 3-8 5-0

54| F—LMT 2- 3!18- 3 - 7-1

Bla=#4>v*vy MO - 1001 - 11 - 5- 6

56|77 U—X|1- 6 0- 511- 716- 5

NO| B7RvyZ |7Z7| CYC |42 M&AX]| CRA | Y LZ
BETS v R 8- o - 3- 2|3- 4

58| #ECYCLONES| 0 - 8 4- 3(2- 3l4- 5

59 417 FXR - 3- 4 0- 5 0- 5

60 XA X 3-2[5-0 7- 0[3- 4

61] CRABS 2- 3|/5- 4 0- 7 0- 5

62| vosaBmms| 4 - 3 5- 0]4- 3|5- 0

Nol C7mwy 2z | POW]| JSC (L1441 5Ly K[ MM
POWERS 7- 516- 0 - 4 -3

JSC 5- 7 19- 1|7- 0]6- 5

6h|va7 7 vmre=7 (0 - 6|1 - 19 2- 3 -

66| =471 —+4+-X 0- 7/3- 2 1- 2|5- 0

67|L v K/ —>| - 5- 6 2- 1 1- 2

68 MM 3- 1 - 0- 5|2- 1

RESN—F X B A

—@

—®

@)

I E el F= - | Y
9l 23] 7| 16
9| 23| 11| 12
31 9 11| -2
6| 171 7| 10
ol 6| 27| -21
4/13%HE ol 8| 23] -15
e ER kR |mE IBAL
6| 14| 6] 8
3] 10 19| -9
6/8&6/29%H| -6 3| 14| -11
9] 18] 6| 12
7/27% e ol 7| 19| -12
12| 18] 6] 12
e Ee |kR |mE IBAL
ol 171 8] 9
9] 37| 13| 24
o 3| 28] -25
6] 9 11| -2
3] 8] 9] -1
5/11% ol 5| 10l -5
o [E0] aFmL—f (R
—Q| &EFFEL—{L [BE=NL]
_ | RFBL— [HE=]
— —O| BFELM THE—AL
6 —@| BRFELAL BB
—Q| BFELA (RE=41
~3 = BFEL=AL [RRE—NL]
o = BFEL=AL [RREZNL




